COUNTY OF LEXINGTON

Procurement Services 212 South Lake Drive, Suite 503, 5th Floor Lexington, South Carolina 29072-3493



Phone (803) 785-8166 Fax (803) 785-2240

THIS IS A STATEMENT OF **INTENT TO AWARD** A CONTRACT AND BECOMES THE OFFICIAL STATEMENT OF AWARD CONTINGENT UPON COUNTY COUNCIL APPROVAL UNLESS OTHERWISE RESCINDED.

REFERENCE SOLICITATION NUMBER: C14015-01/29/14K

PROCUREMENT: Janitorial Supplies

ISSUE DATE: January 3, 2014

CLOSING DATE: February 5, 2014

AWARD(S) ARE MADE TO THE FOLLOWING:

Kamo:

Item One (1) \$1.85 each per can Item Eight (8) \$1.72 each per can

Item Nine (9) \$2.64 each per can Estimated Annual Award: \$4,141.20

Smith & Jones Janitorial:

Item Two (2) \$2.90 each per gallon Item Five (5) \$7.00 each per quart

Item Sixteen (16) \$2.99 each per gallon Estimated Annual Award: \$14,307.83

Waper:

Item Three A (3A)\$1.75 each per gallonItem Seven (7)\$20.19 each per boxItem Fourteen (14)\$8.25 each per gallonItem Fifteen (15)\$43.75 each per 5-gallon

Item Sixteen (16) \$2.99 each per gallon Estimated Annual Award: \$30,547.01

Genesis II, Inc.:

Item Four (4) \$1.52 each per can Item Six (6) \$5.98 each per box

Item Thirteen (13) \$1.975 each per box Estimated Annual Award: \$4,560.19

Pyramid School Products:

Item Ten (10) \$2.757 each per can

Item Eleven (11) \$1.98 each per can Estimated Annual Award: \$1,216.46

Item Three B (3B) NO AWARD

Item Twelve (12) NO AWARD

Estimated Total Annual Award: \$54,772.69

An actual bidder who is aggrieved in connection with the intended award or award of a contract shall protest to the Procurement Manager in writing within ten (10) calendar days of the date of Intent to Award notice. Protest letter shall state the issues of the protest, specifically listing where the County failed in determining the potential award.

Kay Keisler Procurement Officer

Posted: April 14, 2014

THIS IS NOT AN ORDER

DO NOT SHIP PRIOR TO RECEIPT OF PURCHASE ORDER.

County of Lexington Bid Tabulation

BID #: C14015-01/29/14K

JANITORIAL SUPPLIES - TERM CONTRACT

											n Deere	Smith & Jones			
				_	Paper Co.			per Inc.	Grainger		Iscapes			itorial	
Item	Description	Qty.	U/M		Total Price		it Price	Total Price	Unit Price Total Price	Unit Price Total Price		Unit	t Price	Total Price	
1	Air Freshener, Aerosol	740	can	\$ 2.27	\$ 1,679.80	\$	1.90	\$ 1,406.00	Non-Responsive	NO BID		\$	1.92	\$ 1,420.80	
2	Pine Base Cleaner	1,620	gal	NO BID		\$	4.55	\$ 7,371.00	Non-Responsive	N	O BID	\$	2.90	\$ 4,698.00	
3A	Cleaner, Glass	528	gal	NO BID		\$	1.75	\$ 924.00	Non-Responsive	N	\$	3.08	\$ 1,626.24		
	Cleaner, Glass, 32 oz														
3B	Bottle	2112	btl	NO BID		\$ 1.25 \$ 2,640.00		\$ 2,640.00	NO BID	N	\$	1.63	\$ 3,442.56		
	Cleaner, Surface,														
	Aerosol	912	can	\$ 1.83	\$ 1,668.96	\$	1.59	\$ 1,450.08	Non-Responsive	NO BID		\$	2.22	\$ 2,024.64	
	Cleaner, Toliet, Rust &														
	Ring Remover	120	qt	NO BID		\$	10.00	\$ 1,200.00	Non-Responsive	NO BID			7.00	\$ 840.00	
	Deodorant Block, Toilet														
6	Bowl, 12-4oz blocks	144	box	NO BID		\$	7.32	\$ 1,054.08	Non-Responsive	NO BID		\$	8.30	\$ 1,195.20	
	Deodorant Block, Wall														
7	Hanging, 6-24oz blocks	774	box	NO BID		\$ 20.19 \$ 15,627.06		\$ 15,627.06	Non-Responsive	NO BID			21.84	\$16,904.16	
	Disinfectant/Deodorizer,									NO 515					
	Aerosol	828	can	\$ 2.12	\$ 1,755.36	\$	1.78	\$ 1,473.84	Non-Responsive	N(O BID	\$	1.79	\$ 1,482.12	
	Insecticide,														
	Flying/Crawling Insects,	408	can	\$ 3.22	\$ 1,313.76	\$	2.90	\$ 1,183.20	Non-Responsive	\$ 14.06	\$ 5,736.48	\$	3.88	\$ 1,583.04	
	Insecticide, Wasp &	0.40						A 000 10	.		A 4 000 00			.	
	Hornet, Aerosol	240	can	\$ 3.41	\$ 818.40	\$	2.86	\$ 686.40	Non-Responsive	\$ 5.57	\$ 1,336.80	\$	3.00	\$ 720.00	
	Polish, Furniture,	0.40		Φ 0.45	# 500.00	_	0.05	Φ 400.00	No. Bereit	Φ.		_	0.07	400.00	
	Aerosol		can			_	2.05	\$ 492.00	Non-Responsive	\$ -	•	\$	2.07	\$ 496.80	
	Soap, Hand & Face, Bar	62,000	ea	NO BID		\$	3.00	\$186,000.00	NO BID	\$ -	\$ -	\$	0.23	\$14,260.00	
	Soap, Hand, Liquid, Bag-	4 000	١.	NO DID		_	4.00	Φ 000000	NO DID	•	•		0.00	A A A A A A A B	
	in-Box, 800 ML	1,020	box	NO BID		\$	1.99	\$ 2,029.80	NO BID	\$ -	\$ -	\$	2.08	\$ 2,121.60	
	Non-Ammoniated Wax	400		NO BID		Ф 0.05 Ф 4.000.00		Ф. 4.000.00	NO DID	\$ - \$ -		Non De			
	Stripper Wax, Floor, High	160	gal			\$ 8.25 \$ 1,320.0		\$ 1,320.00	NO BID	\$ -	Non-Re		esponsive		
		CE	E ac	NO DID		٠	\$ 43.75 \$ 2,843.75		NO BID	6	¢	۱ م	F2 00	ф э ээо оо	
15	Performance General Purpose	65	5 gal	NO BID		Ф	43.75	\$ 2,843.75	NO BID	\$ -	\$ -	φ ;	52.00	\$ 3,380.00	
16	Cleaner	2,620	aal	NO DID		\$	2.99	\$ 7,833.80	NO BID	\$ -	\$ -	\$	2.99	\$ 7,833.80	
10	Citaliti	2,020	yal	NO BID		Φ	2.99	φ 1,000.00	עום טוו	φ -	φ -	Φ	∠.⊎⊎	φ 1,033.6U	

				USA Lease Inc.			Genesis II, Inc.				Pyramid School Products			Kamo				Coastal Sanitary Supply	
Item	Description	Qty.	U/M	Unit Price	Total Price	Uni	t Price	Tot	al Price	Uni	it Price	Tota	al Price	Uni	t Price	Tota	I Price	Unit Price Total	Price
1	Air Freshener, Aerosol	740	can	NO) BID	\$	2.16	\$	1,598.40	\$	1.89	\$ 1,398.60		\$	1.85		369.00	Non-Respons	sive
2	Pine Base Cleaner	1,620	gal	NO) BID			6,447.60	NO BID			NO BID				Non-Respons	ive		
3A	Cleaner, Glass	528	gal	NO BID		\$	4.19 \$ 2,212.32		2,212.32	NO BID			NO BID				Non-Respons	ive	
3B	Cleaner, Glass, 32 oz Bottle	2112	btl	\$ 1.92 \$ 4,055.04		NO BID)	NO BID			\$	1.40	\$ 2,	956.80			
4	Cleaner, Surface, Aerosol	912	can	NO) BID	\$	1.52	\$	1,386.24	\$	1.578	\$ 1	,439.14	\$	1.53	\$ 1,	395.36	Non-Respons	sive
5	Cleaner, Toliet, Rust & Ring Remover	120	qt	NO BID			NO BID			NO BID			NO BID				Non-Responsive		
6	Deodorant Block, Toilet Bowl, 12-4oz blocks	144	box	NO BID		\$ 5.98 \$ 861.12		\$	6.09	6.09 \$ 876.96		NO BID				Non-Responsive			
7	Deodorant Block, Wall Hanging, 6-24oz blocks	774	box	NO BID		\$ 20.48		\$ 1	5,851.52	\$	20.69	\$ 16,014.06		NO BID				Non-Responsive	
8	Disinfectant/Deodorizer, Aerosol	828	can	NO) BID	\$	1.76	\$	1,457.28	\$	1.73	\$ 1,432.44		\$	1.72	1.72 \$ 1,424.16		Non-Responsive	
	Flying/Crawling Insects, Aerosol	408	can	NO) BID	\$	3.192	\$	1,302.34	\$	2.70	\$ 1	,101.60	\$	2.64	\$ 1,	077.12	Non-Respons	sive
	Insecticide, Wasp & Hornet, Aerosol	240	can	NO) BID	\$	2.99	\$	717.60	\$	2.757	\$	661.68	\$	2.79	\$	669.60	Non-Respons	sive
	Polish, Furniture, Aerosol	240	can	NO) BID	\$	2.33	\$	559.20	\$	1.98	\$	475.20	\$	1.99	\$	477.60	Non-Respons	sive
12	Soap, Hand & Face, Bar	62,000	ea	NO) BID	NO BID)	\$	0.64	\$ 39	,680.00	\$	0.23	\$14,	260.00	Non-Respons	ive	
13	Soap, Hand, Liquid, Bag- in-Box, 800 ML	1,020	box	NO) BID	\$	1.975	\$:	2,014.50	NO BID		\$	1.98	\$ 2,	019.60	Non-Respons	sive		
14	Non-Ammoniated Wax Stripper	160	gal	NO) BID	\$	8.40	\$	1,344.00	NO BID)	NO BID				Non-Respons	sive	
	Wax, Floor, High Performance	65	5 gal	NO) BID	\$	54.42	2 \$ 3,537.30 NO BID)	NO BID				Non-Respons	sive			
16	General Purpose Cleaner	2,620	gal	NO) BID	\$	4.31	\$ 1	1,292.20		NO BID NO BID		Non-Respons	sive					

Coastal Sanitary Supply's bid was deemed "Non-Responsive" for failure to provide pricing on the correct (revised 01/22/14) Bidders Schedule. Grainger's bid was deemed "Non-Responsive" for bidding items that were not on the County's pre-approved products list. Smith & Jones's Item #14 was deemed "Non-Responsive" because item was not on the County's pre-approved products list.

Bids Opened: February 5, 2014 @ 3:30 PM

Kay Keisler Procurement Officer